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Amount (Rs.)
Fixed overheads :
Depreciation 11,000
Insurance 3,000
Salaries 10,000
Total overheads 62,000

Eatimateci direct labour hours - 1,24,000
hrs.

Or
(<) Sipssenn efleurnisatellmbg)
(1) Qumer vLsseilene rYLITH

(i) Qunmer eflene wrOUIH SHweupenp :

semEsl[Hs.
Benewimeng) 2_GRTEnLOWLITETE|
A 20 Carr gm. 5.50 afigls 25 dlGar ¢m. 6.00 aigwo
B 30 &Gwr ¢m. Rs. 6.cig 40 &G 5. 7.00 aigd
From the fullowing.particula.ra, calculate :
(i) Material cost variance '
(1) Material price variance.

Standard Actual
A 20 kg at Rs. 5.50 25 kg at Rs. 6.00
B 30 kg at Rs. 6 40 kg at Rs. 7.00
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16.

17.

(=) Cueremrenio

SECTION C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

(21) Cuenameno sesdwdiear Cprésn wHOHID

uenflser wWrensu?

Explain the scope and functions of
management accounting.

Or
Pdleni

sansflue)  wHmib
sarasue) fweupap Caumiu®ss!s.
Distinguish between management

accounting and financial accounting.

(<) fdfloe obsmsuier LGiLMiey perpsemer

eSleuifl.

State the methods of analysis of financial
statements.

Or
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18.

(1)

(<25)

“Urgismiy  eTeen”  EGTENTPNE)  CTENEN? <G
ereucungy iflsfssiiu_wmb efleud.

What is “Margin of safety”? How can it be
increased explain?
Or

@0 Howsgdar ghedr Gereumareupenns
sn_(H&enmen. '

sreb efpuenerey.  Gerubd

1 1,20,000 9,600
II 1,40,000 13,000
sawssl([Hs :

1) @eru/sere) s,
(1) e&flew yerafl.

(i) elpuemer @. 200,000 o5 @EHEGD

Guing @eonuitb.
(iv) . 50,000 Qerusdnsrer eflhLener.
v) umgariyl ugd sren I .
The records of a company show the following
Period Sales (Rs.) Profit (Rs.)

I 1,20,000 9,000
II 1,40,000 13,000
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(=)

Find out :

(i) p/v ratio.

(ii) Break even point.

(iii) Profit when sales are Rs. 2,00,000

(iv) Sales required to earn profit of
Rs. 50,000.

(v) Margin of safety for period I.

S Gl euenrs :

()  Opdipess Hible

(i) QurésHL Bl e,

(iii) QusEsde Hass B .
Write short notes on :

(i) Flexible budget.

: (di) Cash budget.

(<)

(iii) Funds from operation.

Or

Ulw Siglivent. eupey Gsoey FlL BB
aerprdd  eremen? Sigenr  QewdumenLuyb
pereniosenarib efleufl.

What is zero base budgeting? Explain the
process of zero base budget and it
advantages.
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